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Q1. TF ¢ U Max wifa & 600 A Fi T T am=m F<cdt &, IR e v wfay 5 Fft / sier a1
STAT §, AT ITAT H 4 = T FH GHT AT 8. o it T AT FIorA?

(a) 100 ferft/eeT

(b) 25 fefi/=eT

(c) 50 FrHt/=raT

(d) 75 fefi/=eT

(e) 80 fefi/=eT
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Q2. TF =Txh AT T | 48 Hiew/MAme it i & A% Thar §, 98 a1 fAwda 200 Hie< six
T % 9T 200 e AT §. I 1 &9 & g 7@ a97 § 3w 10 f=e §, av g S afw
Rt g2

(a) 30 Hrex / e

(b) 31 Htex / ==

(c) 29 W=z / faee

(d) 32 Htex / e

(e) 26 Htax / e
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Q3. . = % argw # 50 fFHT wia "¢ i v 7% Frawr Sa= fir smaegwar it & g
AT | 75 FRHT wia =5 & i 94X 30% stfer Sa+ fit sraegsar grar gl 50 FRHT v

e FY T &, . Ay 195 A fit & T 1 aa 1 75 BT v 5 fir afa aag
fraet & a@ F417

(a) 125 Y

(b) 150 et

(c) 140 freT

(d) 175 FreT

(e) 200 T
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Q4. TF FIX, TH ST i dae< i i & = &7 stqura 3: 5: 2 . Stro i 1, S & wifa v
250 giera & ST 12 =i 7 360 it T 73 FxaT §. F i stra $it shaa i a2
(a) 60 ferei/=eT

(b) 75 ferfi/eeT

(c) 40 fefy/=rar

(d) 65 feret/=eT

(e) 50 ferei/=eT
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Q5. T 3 4 e § 180 et it T 7 Tl 8. TF o7’ T G0 T A AT FLA | 1 W T
FH G AT §. TS T A QAT § 9 W &, T TF 5 | 7 Q1 A0 grar a7 T T *
= fraeT siax 82

(a) 45 fY

(b) 9 Fft
(c) 10 Fxfy
(d) 12 FBf
(e) 15 Fft
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Q6. T AT T ATT F ATHA T TTAHet T T TRT 82 fFft wiy wer §, X A 3 5 & &y
& wiader 105 Y it & a9 FTA 8, T7 74 § &< o b 126 Ff g aa v+ &
o T gwy @ fcvA?

(a) 126/47 =i

(b) 127/47 =iz

(c) 129/47 =

(d) 124/47 =iz

(e) TAH T FIS ARl
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Q7. fadfiw wiafa 10 =e sraw wxa gy 52 et & v fAffaa T aF 9 ahar & . IRET O
T HA A 38 Fovgam aw &¥m, IR ag S i & =T € oK vs R IR E v 7




ATCTH FAT g2

(a) 104 fa=r

(b) 26 fa=

(c) 78 fa=

(d) 182 fa=r

(e) 140 fa=r
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Q8. A, PH QY AT I 9 N | 2T FAT LE FATE M B, QA PHr M g 10 T &
ZTST FAT & FLAT 81 B, A¥ 50% o< (Faster) €, I P 3T Q 300 et fr g wx g sk A
&t i 50 fFfi/eer & a1 3 e aw o eia?

(@) 12:30 pm

(b) 12 9B

(c)11:00 am

(d)11:30am

(e)1:30 pm
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Q9. T =afxh 24 fFf wiy w2 Fi shwra wia & 9 (uphill) SraT § i 36 foet wia =2 i
siraq i & = SraT (comes down) g, THT €7 & GHTE 4 T HT ST 8, T ATAT A i
T a8

(a) 30 fefY i =ar

(b) 28.8 Y wfa =eT

(c) 32.6 ToHT e =raT

(d) 24.4 Ty wfa =eT

(e) 26 Ty i =ar
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Q10. <= 300 =t Y FT=AT T AifAF T & I FIRT 3T ATAF T & FIL G 7T FLAT §. IS
ag ¢ & 60 Bt ff T 7 AT § IR AW T FIR G 9T F@T 8, a7 S IqeT 1 TF
TEAA A 4 He A9 §. A 98 7 gRT 100 Frenfiex et it T aa wxar g s sk aw
FT IR T FLAT & AT S e 1 a5 qg=9 9 10 e i avrg &, 37 i i fraeir &2
(a) 50 foreT 9t =i

(b) 60 ForeT i =i

(c) 100 ey i =i



(d) 120 et f =

(e) 140 T i =
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Q11. TSI U Wt T it =T 9= g, 9% AT Fir 2/5 T st 1200 Foreft gams &7 & a9 F¥av
t. T, ag & e R o 44T g 8 58 a0 T ImET At 1/3 T 9 FIT 7. 39 91, 98
AT FTAT T 7 & TF FLAT . AT G 7 F qF H 701 T 719 fifora?

(a) 480 fY

(b) 800 f3+t

(c) 1600 =t

(d) 1800 ft

(e) 1200 fY
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Q12. TF ATa T FAfSra T v &m=r & IfAget 7T FL § 9 W &7 0T AT § i a0 T4 Fr
T & SIhe aF LA § 3 5 T GHT AT §. AT< ATT A | 19 6¥ 1 4 FowelT wiy ser &, av
T Y T ot &2

(a) 4 T wfaq =i

(b) 3 oY i =i

(c) 6 foft afa =i

(d) 2 oY i =i

(e) 8 oY i =i

L1Difficulty 2

QTagsBoat And Stream

QCreatorDeepak Rohilla

Q13. s [t T a7 F |, A 3T B H Tq 3: 4 F AqUTd § gl gl A TqeT T TgaT &
T A %1 B & 20 f9e (fes a9 97T g, 7 A H¥ 7aeq 9% Igad § a0 a1t 99 fohar g?
(a) 2

(b) 372

(c) 252

(d) 2=

(e) 3%
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Q14. T ATa &I T 74t 9 fofg X & &mr & gt féig Y % 20 et it o ag st g1
grafigXaYaasiR g YaX T amm s & R g ang & 41 Mee 40 a5 €.
T FY i et €2

(a) 66 B afe =2

(b) 72 et ufa =i
(c) 48 Tt ufd =i
(d) Frertia w8t foha S Jehar 2
(e) TAH T FIE Aol

L1Difficulty 2
QTagsBoat And Stream
QCreatorDeepak Rohilla

Q15. TH I TS & & AT I T Il ARKAT Al I FAT &, Tgar saf<n 4.5 et wfay s i
T & =F1aT &, A Afw 5.4 Rt iy s it 7fa & 9erar 8. 39 T41 F I T § 79 8.4
3T 8.5 qohe T AHYT AT . AT< I AT o1 il AT Q9T & 9 T § AV o ¥ it Fovaetr
&2
(a) 66 T fd =i

(b) 72 Tt Wi =i

(c) 78 foret 9t =i

(d) 81 Foheft Wil =i
(e) 91 Tt Wi =i
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Solutions

S1. Ans.(b)
Sol.

Using formula,

5(S+5
( ) x4 = 600
S(S+5) = 750 = 25 (25 + 5)
Speed of the train = 25 km/hr
Alternately,

s0_so0 _,

500=+3000-600s

s(2+5])

s =25 km/hr

=4




S2. Ans.(d)

Sol.
200 200 .
— =10
48—V 484+V
Or, 20(48 + V) - 20(48 - V) = 482 —v?
Or, V2 4+ 40V — 2304 =0

Or, V=32 m/min.

S3. Ans.(b)

Sol. The only thing which matters in this problem is mileage or kms per litre of the
fuel. At 50 kmph, 195 kms can be covered.

According to given condition, 1.3 times the fuel will be required at 75 kmph.
Hence, distance travelled will be 195/1.3 = 150 kms

S4. Ans.(a)
Sol.

360
Speed of tractor = EEN = 30km/hr
250
Speed of Jeep = 100 # 30 = 75km/hr

3
- Speed of car = < X 75 = 45 km/hr

~ Required average speed
. 75+ 45

= 60 km/,/hr

S5. Ans.(e)

Sol.
First train speed = 45 km/hr

2" train speed = 60 km/hr
~Differencein distance covered in 1 hr =15 km

S6. Ans.(a)
Sol.



U = upstream speed = (b - w)

D = downstream speed = (b + w)
b = speed of boat in still water

w = speed of stream

~u+d=82
b-w+h+w=82
b=41
ATQ,
105
41 -w=—=35
3
w = 6 kmph
126
b +w = T
126
t=—"hr
47
S7.Ans.(d)
Sol.

Vipin walk a certain distance in 52 days
So, total time = 52 x 24 = 1248 hours
= He takes rest 10 hours per day
So, total rest = 10 % 52 = 520 hours in 52 days
So, he works = 1248 - 520 = 728 hours

X
= Speed (S5) = s
= x = 728 X Speed (5] .cvvevvuen (i)
According to question,
2x=25= 4D
(where, D = number of days taken by him
to complete the distance)
x =48D
Using equation (i) and (ii), we get
45D =728 x 5= D= 182 days

S8. Ans.(b)
Sol.



p PO =300 km

Q

at 9 am——— «———10am

50 km/h
Distance travelled by A in 1 hour =50 km
+ Remaining distance between PQ
=300-50=250km

3
B's speed = EKSD

= 75 km/hr
R red ti B 250
~ Required time = (50 7 75)
= 2h

i.e. meeting time = 12 noon

S9. Ans.(b)
Sol.
2% 24 % 36
Average speed = ———
24 + 36
= 28.8 km/h
S10. Ans.(b)

Sol.



Let speed of train = x km/h
Speed of car =y km/h

In first case,
60 240
— 4 =4
x oy
15 60 )
=—+—=1.... (i)
X ¥
In second case,
100 200 10
—t—=4+—
x ¥ a0
100 200 25
_|_

From (i) and (ii)
24 15 - —48 60

xox y ¥
9 12
=-=4=
X ¥
3
= x =2
Putting this value in (i)
15x4 60 _ 4

= y = 80 km/h
. speed of car = % * 80
=60 km/h

S11. Ans.(b)
Sol.

2
E of the distance = 1200 km

- Whole distance = 3000 km
Distance travelled by car = 1000 km
-~ Distance travelled by train = 800 km

S12. Ans.(d)

Sol.

Let distance = d km and speed of stream = s km/hr
~(4-s)x9=(4+5s)x3

=>12-2s=4+s

=s=2km/hr

S1. Ans. (b)



Sol.

According to question,

Ratio of speeds =3 :4

Ratio of time=4:3

4x —3x =20 = x = 20 minutes
Time taken by A = 4x

=4 x 20 = 80 minutes or g hours

S14. Ans.(d)
Sol.
Let speed of boat in still water = v kmph

Speed of stream = s kmph
20 20 25
- —_—— _I_ e ——

T v-s r+s B 36
Here, we cannot find the required answer

as there are two variables in one equation.

S15. Ans (d)
Sol.
Let the speed of train= v kmph
. _ Diztance - s
Time = Velooity (x = length of train)
8.4 x )
2600 v—a5 "D
8.5 3
— == (i)

3600 v-5.4

Dividing both the question
84 v-54

8.5  v—4.5 (1)

By solving equation (iii)
v =81 kmph




